MALLO COURM

[18 (sim (x)) 2dx

First' $Sin^{-1}(x) dx$ EVERYTHING in the integral gets used in I.B.P. $x = sin^{-1}x$ dx = dx dx = dx $dx = \sqrt{1-x^2}$ $dx = \sqrt{1-x$

Integral of form (sim'(x) cos"(x) dx

$$S \sin(x) \cos(x) dx = S u du = u^{2} + c$$

$$(u-sub)$$

$$u = S in x$$

$$du = co S x d + c$$

these sols are equal since $\cos(x+x) = \cos x - \sin x$ $\cos(2x) = (1-\sin^2 x) - \sin^2 x = 1-2\sin^2 x$ $-\frac{1}{4}\cos(2x) = -\frac{1}{4} + \frac{1}{2}\sin^2 x$

(trig sub ... this method works in many offer problems too)

sin(x+y) = sinx asy + siny asx

so if x = y

sin(2x) = 2sinx asx

(use!

(use!

(a) = \frac{1}{2} \frac{1}{2} \sin(2x) 2 dx

= \frac{1}{4} \sin(4) \dagger = \frac{1}{4} \cos(2x) + c

$$\sin^2 x = \frac{\pi}{1 - \cos 3x}$$

power reduction 1/2 angle

[sin (x) cos(x) dx = [sim (x) cos(x) sin(x) dx $-\frac{12}{3} \times \frac{12}{3} \times \frac{12}{3}$ key! () look for odd power @ separate of one power, & put @ end (this one term becomes du) (3) thick u=cos(x)

(4) use trig ID's to replace sin'(x) wir cos(x) Sin'(x) = (Sin2x) = (1-cos2x) = 1-2005x + cosx $(5) = \int (1-2\cos^2x + \cos x)\cos^2x \sin x \, dx$ $(8) = \int (1-2\cos^2x + \cos x)\cos^2x \sin x \, dx$ $(8) = \int (1-2\cos^2x + \cos x)\cos^2x \sin x \, dx$ $(8) = \int (1-2\cos^2x + \cos x)\cos^2x \sin x \, dx$ (6) = $S(1-2n^2+n^4)n^2 \sin x \left(\frac{1}{-\sin x}\right) dn = -\left(n^2-2n^4+n^6\right) dn = -\frac{3}{3} + \frac{3}{5} - \frac{7}{7} + C$

Ex (no old power)
$$\int \sin^2 x \cos^2 x \, dx = \int (\sin x \cos x)^2 dx$$

$$= \int (\frac{1}{2} \sin^2 x)^2 dx \qquad \text{distribut power}$$

$$= \int (\frac{1}{2} \sin^2 x)^2 dx \qquad \text{need to reduce}$$

$$= \int (\frac{1}{2} \sin^2 x)^2 dx \qquad \text{need to reduce}$$

$$= \int (\frac{1}{2} \sin^2 x)^2 dx \qquad \text{need to reduce}$$

$$= \int (\frac{1}{3} (1 - \cos 4x)) dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx \qquad \text{for each } dx$$

$$= \int (1 - \cos 4x) dx$$

$$= \int (1 - \cos 4x)$$

$$\int \sin^2 x \cos^2 x \, dx = \int \sin^2 x \sin^2 x \cos^2 x \, dx$$

$$= \frac{1}{4} \sin^2 x \cos^2 x \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \sin^2 x \cos^2 x \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(2x)) \sin^2 (3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - (\cos(4x) dx) - \frac{1}{4} (\sin^2 x) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - \cos(4x) dx) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - \cos(4x) dx) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - \cos(4x) dx) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - \cos(4x) dx) \cos(3x) \, dx \qquad (\text{mixed} \text{argument})$$

$$= \frac{1}{4} \int \frac{1}{2} (1 - \cos(4x) dx) \cos(3x) \, dx \qquad (\text$$